Math 121 Sec MO9NO1 - Test 1 May 14 2009

Question 1:

and g(z) = —1— Find and simplify (go f)(z) and state the

(a)[4 points] Let f(z) = o~

1
vV +2
domain.
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(b)[4 points] Let f(z) = % Evaluate and simplify
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(c)[2 points] Let H(z) = 5v/tanz — tan®z. Find functions f and g such that H = fog .
§(x) = tan (%)
S
$(x)= §$Ix - %
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Question 2:

v/ 22 —
(a)[5 points] Evaluate lir% m_;—_3__5_ .

= lim JX*22'-§ X+l +§

xX=>
S x-3 2D +5
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(b)[5 points] Evaluate %ﬂm .

_ ltwe ] (4+3)
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Question 3:

(a)[5 points] Evaluate lim M
P z——2 T +2 '

\

z2—2
(b)[5 points] Evaluate 1111%_ ~
2
[ {m X =21

X

|

p. 40of 7



Math 121 Sec MO09NO1 - Test 1 May 14 2009

Question 4:

(a)[5 points] Evaluate  lim ——M— - x
20 6z —sin (3z) = «

| . (s
2. sin (2%)
» &’x
(LM | —
x>0 4T _ . 5in (3x)
| P 3
z - |
L= 3|
- |2
3

(b)[5 points] Use the Intermediate Value Theorem to show that the equation \/E = CoS (g)
T

has a solution on the interval [0, 7] .

S lewr 3_%?" ws(%_\) =0 bas seldfion on L]

LJ 4’—(96) = \x ' - ws(—}) S};S Corfvinoas G Lo, ],

(1

Fl)= =1 | $(D =1, ad @< 0 < §(7)

os Eé INT, 3 f(ey = o for some o<C +«T.

LE, c <
IR 5F_w5<9«)=° b some ocC 2,
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Question 5:

1
(a)[5 points] Determine Iir% 2% sin (E) . The Squeeze Theorem may help here.

. N (N L
Smee  limi =% = 0 = |im X
% -0 x =0 )
b S quer , 2
3 e Squerje Thewem,  ({n rsin (%) = 0.
xS0
(b)[5 points] Determine if the function
1+2% -
—_—, ifr>1
fla)= 4 VI
4ol —xz — 2, ifz < 1
is continuous at z =1 .
. . %+
[t Sy = lime 4% -%X-2 = y-j-2= |
x>y X\
. 5 _ 3 '
\LW\,* ‘L(X) = \\VV\ l+ X _ o - \
x>l x=>\"  JA+3" 1 +3
3
g.('\) = \|+\ = |
3 _

S Sove lim Sx) = Llim Fx) = :‘}(l) £ s Covhnuwous
Y> | x> Tt x=1,
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